Acm Teams

Engineer ahmed sror one of the best coches, He picks team members by using two ways.

First one that the optimal team of three people should consist of one experienced participant and
two newbies. Thus, each experienced participant can share the experience with a large number
of people.

Second one that the optimal team should have two experienced members plus one newbie.
Thus, each newbie can gain more knowledge and experience.

All the teams during the training session should belong to one of the two ways described above.
Furthermore,they agree that the total number of teams should be as much as possible.

There are E experienced members and N newbies on the training session.Can you calculate
what maximum number of teams can be formed?

Input

The first line of the input contains a single integer corresponding to number of test cases t (1 <t < 10) ,The second
line contains two integers Eand N(0< E, N< 5-105) — the number of experienced participants and newbies that are
present at the training session.

Output

For each test case print a single integer representing the maximum number of teams that can be formed.

Example

Input:
2

26
45

Output:
2
3

Note Let's represent the experienced players as XP and newbies as NB.
In the first test the teams look as follows: (XP, NB, NB), (XP, NB, NB).
In the second test sample the teams look as follows: (XP, NB, NB), (XP, NB, NB), (XP, XP, NB).
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